
Sampling : intro to MD

and intro to enhanced

sampling



How do we integrate Newton's Equis
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Lets go

back
to formal description
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Now
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Seems overly complicated
,

bot this formulation

allowed for many advanced methods to be derived

using splitting schemes
.

E.g. RESPA ,
evolve Slow and fast forces
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Enhanced Sampling
-

we said before that the time any
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or N=T/e+ md time steps is true if

the system is ergodic ,
ie sees all the states

The problem in real simulations is
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is a very cannon problem .
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